

⑦

✓

⑦

⑦

$b_{22} \checkmark$
 $b_{2-1} \bar{v} \bar{v} \bar{e}$

④

۴

$$B = \frac{\mu}{\omega}$$



$$F_{\omega}^{\circ} \Rightarrow \hat{C} = V \hat{\omega}$$



$$BC^2 = AC^2 + AB^2 - 2 \times AC \times AB \times \cos \alpha$$

$$F^2 = F^2 + 1 - 2 \times F \times 1 \times \cos \alpha$$

$$\cos \alpha = \frac{1}{F} \quad \checkmark$$

$$DE^2 = AD^2 + AE^2 - 2 \times AD \times AE \times \cos \alpha$$

$$DE^2 = 14 + 14 - 2 \times F \times 4 \times \frac{1}{F}$$

$$DE^2 = 15 \Rightarrow DE = \sqrt{15} \quad \checkmark$$

الف) $4F + 14 - 2 \times 1 \times 4 \times \frac{1}{F} = BC^2 \Rightarrow BC = \sqrt{15} \quad \checkmark$

ب) $S = \frac{1}{2} \times \frac{\sqrt{15}}{F} \times 1 \times 4 = 10 \sqrt{15} \quad \checkmark$

$$a^2 = b^2 + c^2 - 2bc \cos A$$

$$\frac{b^2 + c^2 + 2bc - a^2}{bc(\cos A + 1)} = \frac{2bc + 2bc \cos A}{bc(\cos A + 1)} = \frac{2bc(1 + \cos A)}{bc(1 + \cos A)} = 2 \quad \checkmark$$

$$a^2 + b^2 - c^2 = a^2 + a^2 b - a^2 c$$

$$\frac{b^2 - c^2}{b - c} = a^2$$

$$b^2 + bc + c^2 = a^2$$

$$a^2 = b^2 + c^2 + bc$$

$$a^2 = b^2 + c^2 - 2bc \cos A$$

$$bc = -2bc \cos A$$

$$\cos A = -\frac{1}{2} \Rightarrow A = 120^\circ$$

$$\frac{1}{F} \times \sin 120^\circ (1 - \cos \theta) (1 + \sqrt{3} \cos \theta) = 1$$

$(1 - \cos \theta) (1 + \sqrt{3} \cos \theta) = 1$ واضح است $\Rightarrow \cos \theta = 1 \Rightarrow AB = 2 \quad AC = F$

$$a^2 = F^2 + 14 - 2 \times F \times F \times \frac{\sqrt{3}}{F}$$

$$a^2 = F^2 - 14\sqrt{3} \quad \checkmark$$